Porovnej dvé pole s pismeny, najdi zmény a zakrouZkuj je podle
vzoru.

A

kp@tdwertzuiopa
sdfghjklyxcvbnm
adgjlgetuoycbm
wrzipsfhkxvnkpz
tdwertzuiopasdf
ghjklyxcvbnmad
gjlgetuoycbmwr
zipsfhkxvnkpztd
wertzuiopasdfgh
jklyxcvbnmadgjl
getuoycbmwrzip
sfhkxvnkpztdwer
tzuiopasdfghjkl
yxcvbnmadgjl ge
tuoycbmwrzipsre

kpGtdwertzulopo
sdfghjhlyxcvbnn
adgjlgefuoycbm
wrzidsfhkxvnkpz
tbmertzuiopasdf
ghjklyxcvbmpad
gjlgetuoycbmwr
zipsfhjxvnkpztd
wertzuioqgasdfgh
jklyxcvdnmadgijl
qgetuoycbwmrzip
sfhkxvnkpztbwe
rtzuiodasd ghjkl
yx cvbnmabgjlqge
tuoycbwwrzipssa

MADADGJLQETUOY
CBMWRZIPSFHKXVN
GJLQETUOYCBMWR
ZIPSFHKXVNKPZTD
WERTZUIOPASDFGH
JKLYXCJKLYXCVVB
NMADGJLQETUOYC
BMWRZIPSFHKXKPZ
TDWERTZUIOPASDF
GHBNMADGJLQETU
OYCBMWRZIPSFHKX
VNKPZTDWERTZUIO
PASDFGHJKLYXCVB
NVNKPZTDWERTZUI
OPASDFGHJKLYXCV
BNMCDFGHJKLYXCYV

MADADGJLQETUOY
CPMWRZIBSFHKXVN
GJLQETUOYOBMWR
ZIPSFHKXVNKPZTD
WFRTZUICPASDFGN
JKLYXCJKLYXCUVB
NMADGJLQETUOYC
BMWRZIDSFHKXKBZ
TDWERTZUIOPASDF
GHBNWADGJLQETU
OYCBMMRZIPSEHKX
VNKPZTDWERTZUJO
PASDFGHJKLYXCVB
NVZKPZTBMERTZUI
OPASDFGNJKLYXCV
BNNCDEGAJKTYXOV

¥uliFardd

94

N\




